
~ SD216COM SD2750COM REVERSIBLE SCREWDRIVER 

~ Wespro Pneumatic Tools 

1/2
 



No. Description Order Code Q'ty No. Description Order Code Q'ty 
1 Pistol Housing 225954 1 29-1 First Plant Gear [SD2750COM] 225876 4 

2 o Ring (5xl) , 225835 I 30 FirstGcar Cage [SD216COM] 225972 I 

3 Blank Cap 225836 I 30-1 First Gear Cage [SD2750c0M] 228799 I 

4 o Ring (3.5x2) 225837 I 31 Second Main Gear [SD216COM] 225974 I 

5 Valve O-Ring (3x1.5) 225838 I 31-1 Second Main Gear [SD2750COM] 228800 I 

6 Valve Pin 225839 I 32 Second Plant Gear [SD216COM] 225975 4 

7 Cone Spring (0.45) 225840 I 32-1 Second Plant Gear [SD2750COM] 225876 4 

8 Valve Bushing 225841 I 33 Second Gear Cage [SD216COM] 228801 1 

8-1 o Ring (8xl) 225842 2 33-1 Second Gear Cage [SD2750COM] 225878 I 

9 Trigger 225843 1 34 Internal Gear 228802 I 

10 Cap 225844 2 35 Ball Bearing (688ZZ) 141851 2 

II o Ring (PIO) 225955 2 36 Clutch Housing 225979 I 

12 Screw Cap 225845 2 36-1 Washer 228803 I 

13 Spring 225957 I 37 Anvil (6.35Hex) 225917 I 

14 Valve O-Ring 225958 I 38 C Ring 225918 I 

15 Reverse Valve 225959 I 39 Ball (1/8") 228804 3 

16 Set Screw (M2.6xI2) And Washer 225849 I 40 Washer 225920 I 

17 Reverse Lever 225960 I 41 Torque Spring (2.8)[SD216COM] 228805 I 

18 Ball Bearing (624ZZ) 112052 I 41-1 Torque Spring (3.2)[SD2750COM] 228806 I 

19 End PlalI: 225961 I 42 Rqw.bonWaIa ~_"C- I 

19-1 Roll Pin (l.6x4.5) 228793 1 43 Torque Ring 228808 I 

20 Cylinder 225962 I 44 C Ring 225926 I 

21 Rotor [SD2750COM] 228794 I 45 Ball (2.38) 225927 I 

22 Rotor [SD216COM] 228795 I 45-1 Bushing 228944 I 

23 Rotor Blade 225966 6 46 Bit Slide Sleeve 228945 I 

24 Front Plate 225968 I 47 Spring (0.6) 225928 I 

24-1 Roll Pin (2.5x3.5) 228796 I 48 CRing 225933 I 

25 Ball Bearing (688ZZ) 141851 I 49 Pistol Cover 225983 I 

26 C Ring [SD2750COM] 225872 I 50 o Ring (PIO) 225955 I 

27 Connect [SD216COM] 225873 I 51 Air Inlet Bushing (NP1) 225936 I 

28 First Main Gear [SD216COM] 228797 I 52 Filter 225937 1 

28-1 Internal Gear [SD2750COM] 228798 I 53 Silencer 225984 I 

29 First Plant Gear [SD216COM] 225970 4 

.~,.u. 

Western Office 604-298-2933 Eastern Office 905-839-6111 www.wescoproductiontools.com 

2/2 



--------------------------------------------

----------------------------------------.,­

-------------------------------------.,­




